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If 6 is the measure of the angle
between the final friction force
and the resultant reaction, then
the static friction coefficient
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If f=1—27 actson the point
A(1, 3) ,then the algebraic
measure of the moment of the

force f about the origin point
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ffllf,, fi=2—47] and
Il f> || = 10 units ,then f, could
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If B is the midpoint of AC , Mz = 0
and M, =12 k ,then M, =

—
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A force of magnitude 20 Newton

acts on BC such that ABCD is a

square of side length 6 cm ,then

the norm of the moment of the

force about the point D equals
Newton .cm
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Two parallel forces with the
same direction their magnitudes
are F; and F, Newton .If F; : F,
=1:2

and their resultant = 15 Newton
thenF, - F, = Newton
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If the distance between two
physical particles of weights 3
and 6 newton equals 15 cm ,then
their center of gravity is at a
distance cm from the
particle 3 newton
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ff,=bi+2],f,=-3T+cJ]

are the two forces of a couple




The center of gravity of a
regular thin lamina in a form of
an equilateral triangle whose
vertices are A(1,2), B(-1,0)
and C(3,1)1s .....
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If a set of forces whose resultant
IS R is equivalent to a couple the
norm of its moment is M ,then

OBz aale Jhxae gl ) (A

M=0




In the following figure:
The moment for the resultant
moment unit




Iftheforcef=3?+mf+4§ + APA+ A = Y sl )
acts on the point A( 1,0,-1 ) and —
the moment of the force fabout | ()7 ¢+ <)) bakan 3 5 & s
the point B( 2,-1,3 ) equals

—41 -8 — k , then the value of
m = s (Y- Y ) o
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A body of weight 130 Newton is
placed on a rough inclined plane
inclined to the horizontal by an

.12
angle whose sine o A force acts on

it in the direction of the line of the
greatest slope upwards. If the static

friction coefficient equals % ,then

find the maximum and the minimum
magnitude of the force which make
the body is about to move on the
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Twoforce f; =21—37 , f,
act on the two points A( 1,3 ) and
B(4, 9) respectively . If the resultant

of the two forces acts on the point

C(3,7) ,then find fz
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The following figure represents a set
of forces in newton that act on the S A (e Ao sana gy AUl Ji)
rod AD .Find f and m in the = ,
) Find f SPcu i e sl 5 35l
following cases: .
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1- The set is equilibrium.

2- The resultant of the set of
forces equals 300 newton . o
and acts upwards on a ST Sy gt e Ao oo 255
point 40 cm apart from A ce o b om s
and lies between A and D.
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AB is a nonuniform rod of length one
meter. If the rod gets equilibrated in
the case a weight of a magnitude 300
gm.wt is fixed at a point C distant 20
cm from A and another weight of
magnitude 400 gm.wt is suspended
from the point D distant 15 cm from
B. If the weight existed at D is
increased to get 880 gm.wt, then the
rod gets equilibrated at a point distant
40 cm from B.

Find the weight of the rod and its point
of action.
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In the opposite figure

\ Z

C 12 m
X
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A force of a magnitude 130 newton acts shill 8 i Gien VY lalaie 45 48
along the diagonal A B in the cuboid o
whose dimensions are 3m, 4m and 12m as ¢ oY oalay) Dkiie 53l G P

shown in the figure. Find the moment of
the force F about point D .




A uniform rod with weight (w) rests
with its upper end on a vertical
rough wall, and with its lower end
on a horizontal rough plane, such
that the coefficient of friction
between the wall and rod is equal to

% and the coefficient of friction
between the horizontal plane and
the rod is equal to% ,if the rod is

equilibrium in a vertical plane
perpendicular to the wall ,find the
tangent of the angle of inclination of
the rod to the vertical when it is
about to slide.
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.| ABCD is a parallelogram with area
160 cm?and AD = 16 cm, forces
of magnitudes 5, 8, 5 and 8
Newton respectively.

If m(£ C) = 6 ,then find:

First: the norm of the moment of
the couple formed from the two
forces 5, 5 Newton at 6 = 60 °
Second : the value of 6 if the norm
of the moment of the resultant
couple equals 40 newton .cm and
act in the direction ADC
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A uniform fine lamina in the form of | <t JS—d e daliila 488, daha
an isosceles triangle A B C in which f=alagd ool bl g gluia
AB = AC and AD is the height of the —
triangle of length 45 cm. A straight to adshy Gl plii)) & 5]
line is&mstructed parallel to the ¢ QL clll s adliis puy . pu
base BC and passes through the — P .

center of gravity of the lamina to ¢ R Rl 0B S i
intersect AB and AC at E and F Y- 1 I PR Y%A 5 i g
respectively. Prove that the center | ¢ _a Lely,8 Jeah J88 jS,a of e
of gravity of the quadrilateral EB CF —
lies on AD and is distant 7 cm from
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